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As  SHERRLIMTT t=15cm 36 36.00] m 2.00 36. 00
As  SHERRLIMTT 15<t=30cm m
Co #HEIRUIMTT t=15cm m
Co &HEEhRUIETT 15<t=30cm m
As  SHEMEUEL T t=15cm 11 10.80] m2 0. 60 10. 80
As  SHEMEUEL T 15<t=40cm m2
Co #HZENREUEL T t=15cm m2
Co #HZENREUEL T 15<t=40cm m2
IR A T MEL 4] 414 m3 0.23
BEMIERT Bt 1 1.26| m3 0.07
BEMIERT BAY m3
BEMIERT fiean m3
ABEEIT [y m3
ADEBERT Bt m3
ADEBERT T+ m3
FERBET (1. dnEkiE) M-30 t=10cm m2
LERET (.4mkiE)  [M-30 t=11cm 11| 10.80| m2 0. 60 10. 80
FEBRBET (1. dnEkiE) M-30 t=12cm m2
FERET (1. 4ml E3. 03M-30 t=12cm m2
TEBRBIT (.4nEkiE) RC-40 t=10cm m2
TEBBET (1.4mKi)  [RC-40 t=15cm 11| 10.80| m2 0. 60 10. 80
TEBRBIT (.4nEkiE) RC-40 t=20cm m2
TERBET (1.4mLl 3. 03RC-40 t=15cm m2
|E§ # T (1.4mki)  [RC-40 t=15cm m2
B O T (1. 4mEKiE) M-30 t=10cm m2
KRET (EE - HEERT. 4n[FEAEBHIEAt=3cm 11| 10.80] m2 0.60 10. 80
RETL (BEE - SEER1. 4n|BERREEAt=4cm m?2
RET CGHEER. AnUAT) [BAERRIEAt=3cm m?2
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ELOET As A 04| 0.36/ m3 0.02 36
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As EHEERREVIEL T t=<15cm m2
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As  SHERRLIMTT 15<t=30cm m
Co &HEEhRUIETT t=15cm m
Co &HEEhRUIETT 15<t=30cm m
As  SHEMEUEL T t=15cm 50| 49.80[ m2 0. 60 16.20| 0.60 33. 60
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FEBRBET (1. dnEkiE) M-30 t=12cm m2
FERET (1. 4ml E3. 03M-30 t=12cm m2
TEBRBIT (.4nEkiE) RC-40 t=10cm m2
TEBRBIT (.4nkiE) RC-40 t=15cm 50| 49.80] m2 0. 60 16.20| 0.60 33. 60
TEBRBIT (.4nEkiE) RC-40 t=20cm m2
TERBET (1.4mLl 3. 03RC-40 t=15cm m2
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KRET (EE - HEERT. 4n[FEAEBHIEAt=3cm 50| 49.80| m2 0.60 16.20] 0.60 33. 60
RETL (BEE - SEER1. 4n|BERREEAt=4cm m?2
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& @ = 125.0x125.0x t 4= 0.012 m2 £ iz sk ZHPPE ¢ 100mm
1m3yY
B EEL=219. 6m
&t g =X L | % =
SHELIE T (AS T=10cm=ET)
1.00x 2% = m 2.0
SHEEEY ZhH L (AS T=4cm)
1.00x0. 60 = m2 0. 60 600
HEMREI T (BEL) BiR As t=0. 04cm &% As t=0.03cm
0.60 x 1. 09 - m3 | 065 ﬁ/
BRLI (B, 2 2/\&EE®H) ;i@ﬁu o
0. 60 x 0. 84-0. 012 = m3 0.49 ] i
ERERET (M-30 T=11cm ) : 30
1.00x 0. 60 = m2 0. 60 L =30 110
TEBRET (Rc-40 T=15cm ) Rc-40 150
1.00 % 0. 60 = m2 0. 60 900 i
BWEREIBT  (As T=3cm ) 1125 i
1.00 0. 60 = m2 | 0.60 835
RiasT (L) MR A : =t
0.60 x 1. 09 = m3 0. 65 T ‘
Bk T (ASH" 3) 125 ?
0.60 % 0. 04 = m3 | 0.024 , —
®WHS T (ASH" 3) 100
0.024 x 2. 35t/m3 = t 0. 056 HPPE ¢ 100
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1m3yY
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1.00x 2% = m 2.0
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0.60 x 1. 00 - m3 | 060 ﬁ/
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0. 60 x 0. 75-0. 001 = m3 0.45 ] b
ERERET (M-30 T=11cm ) : 30
1.00x 0. 60 = m2 0. 60 L 30 110
TEBRET (Rc-40 T=15cm ) Rc-40 150
1.00 % 0. 60 = m2 0. 60 900 i
BWEREIBT  (As T=3cm ) 1042 i
1.00 0. 60 = m2 | 0.60 : 752
BIUHT (£8) WEN . EBE
0.60 x 1. 00 = m3 0. 60 T ‘
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0.60 % 0. 04 = m3 | 0.024 , —
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0.024 x 2. 35t/m3 = t 0. 056 PE ¢ 30
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BWEREIBT  (As T=3cm ) 1027 i
1.00 0. 60 = m2 | 0.60 : 737
BIUHT (£8) WEN . EBE
0. 60 x 0. 99 = m3 0.59 T ‘
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0.60 % 0. 04 = m3 | 0.024 , —
®WHS T (ASH" 3) 100
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1.00x 2% = m 2.0
SHEEEY ZhH L (AS T=4cm)
1..00 x 0. 60 = m2 0. 60 600
HEMREI T (BEL) BiR As t=0. 04cm &% As t=0.03cm
0. 60 x 0. 39 - m3 | 023 ﬁ/
BRLI (B, 2 2/\&EE®H) ;i@ﬁu o
0. 60 x 0. 14-0. 012 = m3 0.07 ] i
ERERET (M-30 T=11cm ) : 30
1..00 x 0. 60 = m2 0. 60 L =30 110
TEBRET (Rc-40 T=15cm ) Rc-40 150
1.00 % 0. 60 = m2 0. 60 300 i
WHEREIBLT (As T=3cm ) 495 :
1.00 0. 60 = m2 | 0.60 : 135
BT (£8) WEN . EBE
0.60 x 0. 39 = m3 0.23 T ‘
Bk T (ASH" 3) 125 ?
0.60x0.04 = m3 | 0.024 . E—
RS T (ASH" 3) 0
0.024 x 2. 35t/m3 = t 0. 056 SUS ¢ 100
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& @ = 27.0x27.0x 4= 0.001 m2 K (E
1m3yY
B #EKL=39. Om
&t g = L | % =
SHELIE T (AS T=10cm=ET)
1,00 x 2% = m 0.0
SHEEEY ZhH L (AS T=4cm)
1.00x0. 30 = m2 0.00 300
A SEHEIT (BEL)
0.30x0. 33 = m3 0.10
ANERELT  (EBL) iEH R
0. 30 x 0. 33-0. 001 = m3 0.10 ]
LERET (0 T=0cm ) !
1..00 x 0. 30 = m2 0.00 !
TEE®T (0 T=0cm )
1.00x0. 30 = m2 0.00 300 i
BWEREIET (0 T=0cm ) 327 i
1.00x 0. 30 = m2 | 0.00 327
BiamsT (18 ANiEHl L BEbE
0.30x0. 33 = m3 0.10 " :
HERT (ASH’ 7) 21
0.30x 0. 00 = m3 | 0.000 —
®WHS T (ASH" 3)
0. 000 x 2. 35t/m3 = t 0. 000 N\ 620




